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QID:101 -

In the following question, select the number which
can be placed at the sign of question mark (?) from

the given alternatives.

farafarea vy & Ry o Reedt & @ uy Ry
(?) & TUE W HE e TEA A gRT)

Options:
19

2)10
3) 11

4)12
Correct Answer: 11
Candidate Answer: 11

QID:102-
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How many triangles are there in the given figure?

& o sl A e P ¥

Options:
1)8

2)10
3)12

4)14
Correct Answer: 12
Candidate Answer: 12




QID: 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sels of numbers given in the allernatives are
represented by itwo classes of alphabets as shown in the given lwo
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-il are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its cotumn, for example, ‘C’ can
be represented by 11, 67, etc., and ‘T can be represented by 30, 66, etc.
Similarly, you have to identify the set for the word “TRADE".

UH g haW UH HEOI-OHE BT gefimm o § 3w B Rl o @
et wep o Rr wmr ) Beseul o Bu owiw g sed & ) aeit
grT gein oo € Stor & Bu arv gy areggl # B el F oword AR
fts &t TEar 0 & 4 € i gl B 5 @ 91 59wy ¥ @6 e
@ Ueal g Ufh 3T g # TaeH '@ qR1 guiar S dwar &l
BETRLOT & [T ‘CT et 11, 67, 30T gRr gefar o war ¥ @ T w30,
66, 3fg T gufem &1 wawar ¥ @ oiw @ 3w uw A RBE e
“TRADE® & Tl @ag = ugaiadr #

Matrix-1 Matrix-ll
IMegE-l -l
ol172713]4 5167819
O/A|K|S|Y]|D 5|B|L|VI|E|O
1|F|C|M|U|B slJ|T|CIM|W
ZIN|H|E|OC|W TIHIR|A|K|U
JI|TIPIJ|G|Q 8| F|IP[Z]1|S
41 X[V|R[L]|I 9[D|N[X]|G]|Q

Options:
1) 30, 42, 01, 96, 58

2) 30,76, 78, 04, 22
3) 66, 42, 00, 95, 58

4) 66,77, 00, 95, 31
Correct Answer: 66, 42, 00, 95, 58
Candidate Answer: 66, 42, 00, 95, 58

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& I IAY AP H W 3H I AGA @A Jw
o A vy amgpla B &

A




Options:
1)

J Y [©) &

Correct Answer:

&

Candidate Answer:

S

QID:105-

Which answer figure will complete the pattern in the
question figure?

Hid W S AFT TH AFGA & UAwT H G
HLeft?

N
2

T P o ¥ S = T e mm{g.;ﬂmmy /



Options:
1)

O

Correct Answer:

Candidate Answer:

QID: 106 -
[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg wh ZUUT @ AB I@T T T@l AW, & & 78
T Apiadl # @ Bld W@ apia W g &
mer ufafewer g

O @
O




Options:
1)

® ;5
o

4)

O 0O

>

Correct Answer:

N

C O

Candidate Answer:

N

C O

QID: 107 -
A piece of paper is folded and punched as shown
below in the gquestion figures. From the given
answer figures, indicate how it will appear when
opened?

A= o Uy pfadl A fgET MER SeS @i
HAlseT T3 TUT Wiekd & a1 95 *FE 3T G
s e 2eme

\z_ o

~

\‘\ I O
> X

e e o M R e .‘Em.mmfggﬂmmmv /



Options:
1)

o o
O

Correct Answer:

oo
O

=}

Candidate Answer:

oo
O

O

QID : 108 - If '+ means '+, ' means "=, '=' means 'x' and 'x' means '+, then

24+12+6-4=?

T+ ar a1ef '+, ' ar aref =", ' T aref 'x' et ' gt aref ' g, Y
24+12:6-4=7

Options:

1)-22

2) 22

3)-29

4) 32

Correct Answer: — 22
Candidate Answer: — 22

QID:109-1f3+6+1=163and5+4+9=945,then4+2+3="?

gRE3+6+1=163dA5+4+9=9455,A4+2+3=2?

Options:

1) 432

2) 243

3) 234

4) 324

Correct Answer: 324
Candidate Answer: 324




QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Crying
2. Crypt

3. Cooled
4. Cooking
5. Captain

ffafea el ol ereaenler # 3 aret F & SrgaR g

1. Crying
2. Crypt

3. Cooled
4. Cooking
5. Captain
Options:
1) 53421
2) 54312
3) 54132
4) 53412

Correct Answer: 54312
Candidate Answer: 54312

QID : 111 - In the following question,select the missing number from the given alternatives.
4,8,16,7,64,128

Frafafea uy § g g el d @ g sfe 7 gl

4,8,16,7, 64,128

Options:

1) 30

2)28

3)24

4) 32

Correct Answer: 32
Candidate Answer: 32

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TVU, WYX, ZBA, ?

e SigeRd T ma B, o @ ue ue w81 g g faenedt § & ag we fahed gy, STt Srgshn wl gRT Rkl

TVU, WYX, ZBA, ?

Options:
1) DEC

2) DCE
3) CED

4) CDE
Correct Answer: CED
Candidate Answer: CED

QID : 113 - In the following question, select the odd word pair from the given alternatives.

Frafafea oer & Ry g et | § faww ez g &t gfw)

Options:

1) Tall : Short

I : BYer

2) Above : Top
J[OR ;A

3) Laugh: Cry
AT T

4) Fat : Thin
ifeT : udel

Correct Answer: Above : Top
IR AE

Candidate Answer: Above : Top
JR =




QID : 114 - In the following question, select the odd number from the given alternatives.

Frafafed wer A g g Rereat 7 & fawe e & g1

Options:
1)26

2) 64
3)36

4)144
Correct Answer: 26
Candidate Answer: 26

QID : 115 - In the following question, select the odd letters from the given alternatives.

fFrafafea uy § R g el § @ faus sieri ot gfhgl

Options:

1) AC

2) PR

3)TU

4) JL

Correct Answer: TU
Candidate Answer: TU

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Four wheelers, Jeep, Car
T8 o g St A2 feg g ot & ff & weier ot @t T shear &1

Options:

1)

2

OO0
®

3)

@

4

=

Correct Answer:




Candidate Answer:

QID : 117 - In the following question, select the related word pair from the given alternatives.

Bird : Fly : : Fish:?

Fafafad wyr 8 Ry 1y fAeedt & @ deifda g 379 ot gfagl
ueft : I woet 1 ?

Options:
1) Swim
a<r

2) Crawl
EuEi]

3) Running
g

4) .Walking
e T

Correct Answer: Swim

Candidate Answer: Swim

QID : 118 - In the following question, select the related number from the given alternatives.

4:16::9:?

Frfafea e 8 Ry 1 e § @ Gaifda g & gihgl
4:16::9:7?

Options:
1) 64

2) 81
3)72

4)90
Correct Answer: 81
Candidate Answer: 81

QID : 119 - In the following question, select the related letters from the given alternatives.

ACE:BEH::BUS:?

FrfafEa e 8 Ry 7g e & @ Gafda sieri @0t gfg
ACE:BEH::BUS:?

Options:
1) CWv

2) CWU
3) CXV

4) CWX
Correct Answer: CWV
Candidate Answer: CWV




QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

HOWLINGS

Ffafea feed § @ a8 wee g St A 77 21ea & 318 ol TN &hech g1 ST ST Hehall|
HOWLINGS

Options:
1) WINS

2) HONS
3)SLIP

4) SING
Correct Answer: SLIP
Candidate Answer: SLIP

QID : 121 - A walks 5 km toward west. He turns right and walks 10 km. He again turns right and walks 15 km. how far (in km) is he from his starting point?

Aufgm & oik 5 foh ot Trerar 81 a8 <rii sk ggar & aur 10 fh.®. afar 21 g8 fhk arft oik ggar & dur 15 ). Tear 81 a8 srom emRfes fig @ forart gz (st #) 82

Options:

1) 10v2

2) 10v3

3)20

4)10

Correct Answer: 10v2
Candidate Answer: 10v2

QID: 122 - A, B, C, D and E are standing in line facing north. C stands in the middle. B and E cannot stand with C. A is not standing to the right of C. Who is standing
second from left end?

A, B, C, D @1 E U tfeh & SR i ok 9ra aedh @ €1 C, 7 § w1 81 B AT E, C & I1Y 78] @< gl Tend | A, C & Irfi ok =181 wgr 81 arfi e & qumy & @er 82
Options:

4) Cannot be determined
A I8! fhaT ST ehdT
Correct Answer: A
Candidate Answer: A

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All chairs are cups.
1l. Some chairs are tables.

Conclusions:
I. Some tables are chairs.
1l. Some tables are cups.

12 feg T ve 5 e SR S a1E S e R SenRa @ s g g &, grifen S ST I aet & feran g wendt 81 aeft fsend v ofik flr RafRa o fR Ry g
¥ e, f3g TG At & SR IR gihad gl

<h:
. aoft it u &1
1. 3 Sikial o §

fFreepe:
|. 3o A FRAT 81
1. B AT AU &1
Options:
1) Only conclusion (1) follows.
chaet frsm (1) W@t 81
2) Only conclusion (Il) follows.
e s (1) 98t 31
3) Both conclusion follow.
wE
4) Neither conclusion (1) nor conclusion (I1) follows.

7 at Freents (1) 7 & e (Il) Tt 81

e e o M R e .‘Em.mmfggﬂmmmv / |



Correct Answer: Both conclusion follow.

et 1 Freered @@ €1

Candidate Answer: Both conclusion follow.

3 & Frend @t &1

QID : 124 - In a certain code language, "STAMP" is written as "UVCOR". How is "PAPER" written in that code language?

Ueh fAfRre i umer &, "STAMP” &t "UVCOR" foRaT STTaT § | 59 @i 9T & "PAPER" & foh R e simeam?

Options:
1) RCRGT

2) RCRGU
3) RDRGT

4) RBRGT
Correct Answer: RCRGT
Candidate Answer: RCRGT

QID : 125 - In a certain code language, "PIN" is written as "78" and "SIN" is written as "84". How is "BIN" written in that code language?

Tes fAfE @t v 8, "PIN" @i "78" aur "SIN" <hi "84" forar i1 &1 59 i uwr & "BIN" ol fohy Uk forar siaem?

Options:

1) 25

2) 50

3)75

4)30

Correct Answer: 50
Candidate Answer: 50

QID : 126 - What is the value of 12 - 22 + 32 - 42+ 62 - 52 + 82 - 727
12-22+432-42+462-52+ 82 - T2 AN AN E?

Options:
1)-25

2)-4

3)4

4)-16

Correct Answer: - 16

Candidate Answer: — 16

QID : 127 - If A = 23 x 5% and B = 22 x 52 then what is the value of A x B?

gt A=23x5%and B =22x 528, a A x B &l A &1 &2




Options:
1) 200000

2) 500000
3) 40000

4) 800000

Correct Answer: 500000

Candidate Answer: 500000

QID : 128 - What is the smallest three digit perfect square?
i 3Rl ot el Bter gof aif o= &2

Options:
1) 121

2)100

3)144

4)128

Correct Answer: 100

Candidate Answer: 121

QID:129 -
What is the value of \/0.0016 +/0.158 + 16 ?

J0.0016 +f0.16 + 16 =T FAET T &2



Options:
1) 4.44

2) 4.06

3)4.04

4)4.16

Correct Answer: 4.44

Candidate Answer: 4.44

QID : 130 - What is the Least Common Multiple of 24, 60 and 48?

24, 60 AT 48 T AH GATIAS T 87

Options:
1) 120

2) 240

3)180

4)480

Correct Answer: 240

Candidate Answer: 240

QID : 131 - What is the value of [(0.7)3 + (0.3)3] = [(0.7)2- (0.7x0.3) + (0.3)2]?

[(0.7)3 + (0.3)3] = [(0.7)2- (0.7x0.3) + (0.3)?] &r AT &1 &2
Options:

1)0.3

2)0.7

3)1

4)0.4

Correct Answer: 1

Candidate Answer: 1

QID : 132 - P and Q together complete a work in 8 days. Q and R together complete a work in 16 days and R and P together complete the same work in 8 days. In how
many days P, Q and R together can complete the wok?

P a2 Q ficeR fonelt oo ot 8 T 3 T vl €1 Q a2 R fiieias 16 AT & v 1 & & e R T P fretens S99 & ot 8 foll #f QR v 61 P Q T R fteiene ard ol fohem! AT 7
IRT R TRl &7




Options:
1) 6.4

2)7.2

3)5.8

4)7.1

Correct Answer: 6.4

Candidate Answer: 6.4

QID : 133 - U and V can complete a piece of work in 6 and 48 days respectively. They contracted to complete the work for Rs 45,000. What will be the share (in Rs) of
u?

U e V el onrdf ot shmiar: 6 qam 48 Rt & qrr o weha &1 3819 45,000 T B e URT et @bt e feram ! U ot faa (< §) fosaam givm?

Options:
1) 35000

2) 37000

3) 36000

4) 40000

Correct Answer: 40000

Candidate Answer: 40000

QID : 134 - The height of two cylinders are equal and their radius are in the ratio of 1: 3 respectively. What is the respective ratio of the volume of the two cylinders?

S} S ShY TS SRR & 2T Ikt ST shAsT: 12 3 & SruTa A &1 Gl S o STTId ol ShAST: SIUTd T 82

Options:
10)1:3

2)1:9

3)1:27

4)1:v3

Correct Answer: 1:9

| P R oIS e 3.



Candidate Answer: 1:9

QID : 135 - An article having marked price of Rs 4300 is sold at a discount of 17%. What is the selling price (in Rs) of the article?

T 4300 ¥ Sifdhd g areht avg &l 17% & ge IR =1 71| g <l faehd T3 (% H) R 8?

Options:
1) 3721

2) 3459

3) 3569

4)3317

Correct Answer: 3569

Candidate Answer: 3569

QID : 136 - An article has marked price of Rs 6800. If two successive discounts of 12% and 20% are given, then what will be the selling price (in Rs)?

ek a%g T Sifthd e 6800 F 81 A 12% a2 20% Y &l shifies e & w1y, &t fasha 4w (3 8) i gh?

Options:
1) 4787.2

2) 4624

3) 4460.8

4)4524

Correct Answer: 4787.2

Candidate Answer: 4787.2

QID : 137 - Shopkeeper sold big, medium and small sized chairs for Rs 650, Rs 500 and Rs 400 respectively. The total number of chairs sold were in the ratio 8: 13 : 4.
What is the average cost (in Rs) of a chair?

Ueh GOIMER SIS, FEd JT Bic H15e i HiYdT A 650 F, 500 F auT 400 & | SodT 81 Fef ol 175 HIAA! o1 SIgUId 8 : 13 : 4 81 Yok Hl ol SilEd Hed (3 H) 1 8?




Options:
1) 506

2) 546

3) 478

4)532

Correct Answer: 532

Candidate Answer: 532

QID:138-1fu:v:w=1:5:13,then what will be the value of (3u + 2v + 4w) / (2w = u — 4v)?

g u:v:w=1:5:138 a (3u+2v+4w)/ (2w — u — 4v) I A FT FTI

Options:
1)25

2)13

3)12

417

Correct Answer: 13

Candidate Answer: 13

QID : 139 - What is the average of first 9 even numbers?

ugelt 9 | YTail ot Sftad e 82



Options:
1)9

2)12

3) 11

4)10

Correct Answer: 10

Candidate Answer: 10

QID : 140 - There would be 20% loss if a toy is sold for Rs 11.20. At what price (in Rs) the toy should be sold to earn a profit of 10%?
e & @t 11.20 T H 399 TR 20% 1 ST BIdit 81 10% <79 UTed et o forg Rl vl fohae 31w (= ) o S =nfeg?

Options:
1)15.2

2)14.8

3)14.4

4)15.4

Correct Answer: 15.4

Candidate Answer: 15.4

QID : 141 - If the cost price of an article is 80% of the selling price, then what is the profit percent?

I Yo % o oh4 T TRl T ol 80% &, At A1 wfara arm &2



Options:
1) 20

2) 25

3)30

4)28

Correct Answer: 25

Candidate Answer: 25

QID : 142 - What is the value of (42% of 7200) — (12% of 4800)?

(7200 3 42%) - (4800 & 12%) &I 7 &7 &2

Options:
1) 2138

2) 2448

3) 3348

4)2918

Correct Answer: 2448

Candidate Answer: 2448

QID : 143 - What is the value of 40% of 3/4 of 12007

1200 & 3/4 T 40% ST H T 87

Options:
1) 360

2) 480

3)120

4)240



Correct Answer: 360

Candidate Answer: 360

QID : 144 - A train crosses a platform in 50 seconds travelling with a speed of 72 km/hr. If the length of the train be 250 metres, then what will be the length (in
metres) of the platform?

ek YISt 72 f6.#ft./der i 1fay & Tt g Ues e Y 50 Yerve H UR o wielt 81 afe Yot ot e 250 e el 8, ot wiewis it erwad (sex ®) i gifi?

Options:
1) 600

2) 480

3)750

4) 950

Correct Answer: 750

Candidate Answer: 750

QID : 145 - Speed of a boat is 8 km/hr in still water and the speed of the stream is 2 km/hr. If the boat takes 8 hours to go to a place and come back, then what is the
distance (in km) of the place?

ST STt & g Y if 8 o /eer & dur ey By aifay 2 /g 81 afk e 8 6 F et ot o e aruw o Sl &, |t o (Re. AL ) Reah 82

Options:
1) 24

2) 30

3)45

4) 42

Correct Answer: 30

Candidate Answer: 30

QID : 146 - Rs 5000 are invested in a scheme of compound interest. If the rate of interest is 12% per annum, then what is the interest earned (in Rs) in 2 years?

5000 ¥ <! Tehqfe, AT alelt Yek aterT | fder forar w1 oy saret i &= 12% ufded &, ot 2 af & s a1t (3 8) sra w82

v/,



Options:
1) 1450

2)1272

3)1520

4) 3450
Correct Answer: 1272

Candidate Answer: 1272

QID : 147 -

The table given below shows number of students

from stream A and B for a college in the years 2011
to 2015.

= & 7€ aiferem A T Rufemem # aw 2011
T o 2015 IF a9 AT B # T fr =
N ZATAT T |

Year/aw | A B

2011 520 | 740
2012 610 | 790
2013 480 | 670
2014 540 | 720
2015 900 | 990

In the year 2014, the number of students of stream A is what percent of the number of students in stream B?

Ty 2014 8, @if A & o151 6 T ot B & ST dht W a1 foraan nfasma 82

Options:
175

2) 65

3) 62

4) 56

| P R oIS e 3.



Correct Answer: 75

Candidate Answer: 75

QID: 148 -

The table given below shows number of students

from stream A and B for a college in the years 2011
to 2015.

= & 7€ aiferem A T FufemTem # a¥ 2011
B a¥ 2015 oIF a9 AT B # T fr =
F ZQATIT oA B

Year/a¥ | A B

2011 520 | 740
2012 610 | 790
2013 480 | 670
2014 540 | 720
2015 900 | 990

In the year 2015, the number of students in stream B is how much percent more than the number of students in stream A?

¥ 2015 &, @rf B & BT &Y W aif A & o1 dhY W @ fhaa ufasra sifd &2

Options:
19

2)10

3)12

4)18

Correct Answer: 10

Candidate Answer: 10




QID: 149 -

The table given below shows number of students
from stream A and B for a college in the years 2011
to 2015.

a=r &1 € aiferem # T Rufemmem # e 2011
BTy 2015 TF aof A JuTB # frenf¥= & g=m
@ g 9T &

Year/a¥ | A B

2011 520 | 740
2012 610 | 790
2013 480 | 670
2014 540 | 720
2015 900 | 990

What is the average number of students in stream A from 2011 to 2015?

a9 2011 & 2015 aah, T A & B11 6t ofwa T w1 §?

Options:
1) 612

2) 670

3) 586

4) 630

Correct Answer: 612

Candidate Answer: 612

| P R oIS e 3.



QID: 150 -

The table given below shows number of students

from stream A and B for a college in the years 2011
to 2015.

drr & o arferen A T faufomrerm # aw 2011
T a¥ 2015 aF aor AguTB # fawf@i & =
@ g o

Year/a¥ | A B

2011 920 | 740
2012 610 | 790
2013 480 | 670
2014 540 | 720
2015 900 | 990

In how many years, the number of students in stream B is more than the number of students in stream A?
foraa aui &, T B 7 ol <l ST it A 7 S i S 9 e &7

Options:

15

2)3

3)2

4)1

Correct Answer: 5

Candidate Answer: 5

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select ‘No Error'.

Just before (1)/ the sun rises, (2)/ you will see the dawn. (3)/ No Error (4)/
Options:

Correct Answer: 2
Candidate Answer: 4

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Our recommendations are (1)/ based on solid research (2)/ and exacted analysis. (3)/ No Error (4)/
Options:

1)1

2)2

3)3

44
Correct Answer: 3
Candidate Answer: 3

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Suraj is negligent attending his classes.

T P o ¥ S = T e mm{g:iﬂmmy / |



Options:
1)to

2) towards
3)in

4) about
Correct Answer: in
Candidate Answer: towards

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Shwetais ____ mother of two daughters.

Options:

1) the

2)a

3)an

4)to

Correct Answer: a
Candidate Answer: the

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Shrink

Options:
1) Develop

2) Diminish
3) Expand

4) Stretch
Correct Answer: Diminish
Candidate Answer: Stretch

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Versatile

Options:
1) Limited

2) Inflexible
3) Unadjustable

4) Flexible
Correct Answer: Flexible
Candidate Answer: Flexible

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Unruly

Options:
1) Lawless

2) Compliant
3) Obedient

4) Cooperative
Correct Answer: Lawless
Candidate Answer: Lawless

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Assemble




Options:
1) Collect

2) Scatter
3) Group

4) Reunite
Correct Answer: Scatter
Candidate Answer: Scatter

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Flimsy

Options:
1) Fragile

2) Sturdy
3) Inadequate

4) Shallow
Correct Answer: Sturdy
Candidate Answer: Shallow

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Tactful

Options:
1) Delicate

2) Careless
3) Cautious

4) gentle
Correct Answer: Careless
Candidate Answer: gentle

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

At a stone’s throw

Options:
1) Very near

2) Cause of quarrel
3) Increase anger

4) Easy task
Correct Answer: Very near
Candidate Answer: Very near

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

An uphill task

Options:
1) Unfair blow

2) Close fight
3) Task of no use

4) Difficult task
Correct Answer: Difficult task
Candidate Answer: Difficult task

QID : 163 - Improve the bracketed part of the sentence.

He (have ignored) my mail.




Options:

1) has ignored

2) ignore

3) have been

4) No improvement

Correct Answer: has ignored
Candidate Answer: has ignored

QID : 164 - Improve the bracketed part of the sentence.

When the wind blows, the cradle (was rock).

Options:
1) was rocked

2) will rack
3) will rock

4) No improvement
Correct Answer: will rock
Candidate Answer: will rock

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

One who can neither read nor write.

Options:
1) lllegible

2) Inexcusable
3) llliterate

4) lllegtimate
Correct Answer: llliterate
Candidate Answer: llliterate

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Warning of an impending danger

Options:
1) Prediction

2) Superstition
3) Revelation

4) Premonition
Correct Answer: Premonition
Candidate Answer: Premonition

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Narrater

2) Narratur

3) Narrator

4) Nurrator
Correct Answer: Narrator
Candidate Answer: Narrator

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Leciense

2) License

3) Licinse

A\ lironra



Correct Answer: License
Candidate Answer: Leciense

QID : 169 - Rearrange the parts of the sentence in correct order.

| was

P: night by a

Q: awakened in the
R: noise in the house

Options:
1) QPR

2) PRQ
3) QRP

4) RQP
Correct Answer: QPR
Candidate Answer: QPR

QID : 170 - Rearrange the parts of the sentence in correct order.

Science means

P: how things

Q: finding out

R: actually happen

Options:

1) QPR

2) PRQ

3) PQR

4) RQP

Correct Answer: QPR
Candidate Answer: QPR

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

become closed during this because of the high environmental
period of the year during summer vacation. Most of the students generally
or village friends.

Summer vacation is the period during the summer season. All the schools and
temperature in summer months (especially half May and full June). It becomes the
go to their native village, hill stations, or other cool places to enjoy with cousins, family

Summer vacation is the

Options:
1) busy day

2) holiday
3) boring

4) idle
Correct Answer: holiday
Candidate Answer: holiday

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

become closed during this because of the high environmental
period of the year during summer vacation. Most of the students generally
or village friends.

Summer vacation is the period during the summer season. All the schools and
temperature in summer months (especially half May and full June). It becomes the
go to their native village, hill stations, or other cool places to enjoy with cousins, family

All the schools and become

Options:
1) colleges

2) offices
3) complexes

4) shops
Correct Answer: colleges
Candidate Answer: colleges

e e o M R e .‘Em.mmfggﬂmmmv / |



QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Summer vacation is the period during the summer season. All the schools and
temperature in summer months (especially half May and full June). It becomes the
go to their native village, hill stations, or other cool places to enjoy with cousins, family

become closed during this because of the high environmental
period of the year during summer vacation. Most of the students generally
or village friends.

because of the high

Options:
1) day

2) moment
3) period

4) timings
Correct Answer: period
Candidate Answer: period

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Summer vacation is the period during the summer season. All the schools and
temperature in summer months (especially half May and full June). It becomes the
go to their native village, hill stations, or other cool places to enjoy with cousins, family

become closed during this because of the high environmental
period of the year during summer vacation. Most of the students generally
or village friends.

It becomes the period of the year during

Options:
1) hottest

2) horrible
3) pleasant

4) breezy
Correct Answer: hottest
Candidate Answer: hottest

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Summer vacation is the period during the summer season. All the schools and
temperature in summer months (especially half May and full June). It becomes the
go to their native village, hill stations, or other cool places to enjoy with cousins, family

become closed during this because of the high environmental
period of the year during summer vacation. Most of the students generally
or village friends.

cousins, family or village friends.

Options:
1) people

2) women
3) men

4) members
Correct Answer: members
Candidate Answer: members

QID: 176 - ____ unemployment happens when people are not able to find jobs during some months of the year.

RIS a9 it &, ST AR I S G FelAl A JASRTR WIt g1 e uTd 81

Options:
1) Seasonal

2) Disguised
=59

3) Educated
Rfaa

4) Uneducated
srffga
Correct Answer: Seasonal

Candidate Answer: Seasonal

e e o M R e .‘Em.mmfggﬂmmmv / |



QID : 177 - Fishing comes under which sector of economic activity?

A e anfefes wfafafd 3 &imren & sfavia ot 87

Options:
1) Quaternary sector
C

2) Secondary sector

3) Tertiary sector

4) Primary sector
fAh

ur

Correct Answer: Primary sector
ur

Candidate Answer: Primary sector
e &

QID : 178 - The Indian constitution recognizes every person as :

YR dfqum g eafeai dl __ AFargl
Options:

1) poor

R

2) rich

iR

3) unequal
STHATAAT
4) equal
HHH

Correct Answer: equal
1=

Candidate Answer: equal
H=

QID : 179 - In which year Civil Rights movement began?

AR SfAhR Srieler fohg af 7 g gorm am?

Options:
1) 1950

2) 1945
3) 1955

4) 1960
Correct Answer: 1955
Candidate Answer: 1945

QID : 180 - The city of Lothal stood beside a tributary of which river?

Sterer TR e 7 & IuAE) & fRR oR s am?
Options:

1) Narmada

THaT

2) Ganga

i

3) Yamuna

ag-n

4) Sabarmati

BRIt

Correct Answer: Sabarmati

Candidate Answer: Sabarmati

QID : 181 - Which viceroy partitioned Bengal?

R arIERTT A ST T e R ar?




Options:
1) Lord Warren Hasting
1S arA BfET

2) Lord Mountbatten
TS ARGrestes

3) Lord Curzon
1S T

4) Lord Bentick
TS S
Correct Answer: Lord Curzon

Candidate Answer: Lord Bentick

QID : 182 - Which constellation is called Saptarishi?

g FerTSe @ TR HET ST 87
Options:

1) Ursa major

39 Ao

2) Big bear
faraRrR

3) Small bear
Tt iR
4) Orion
SIRIZSH
Correct Answer: Ursa major

Candidate Answer: Ursa major

QID : 183 - What causes change in the seasons on earth?

Gt R Fgait oh1 URae e wRoT gier 82

Options:
1) Rotation

2) Revolution

3) Rotation and Revolution both
ol T ufeRaor St

4) None of these_

IRIH A & I T

Correct Answer: Revolution

Candidate Answer: Revolution

QID : 184 - Plants with weak stems that cannot stand upright and spread on the ground are calledas _____.

TSR q aTer Ui i Tte @S T 8t Geha a1 & offff R thet W1 €,
Options:
1) Creepers
odr
2) Trees
e
3) Shrubs
I

gl &1

4) Herbs
MR

Correct Answer: Creepers
dr

Candidate Answer: Creepers
oar

QID : 185 - Part of a leaf by which it is attached to the stemis calledas .

I T g TT oIk GRT 9 o @ 8 81l 8, gl gl
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Options:
1) Joint
site

2) boint
3) Petiole

4) Lamina
helch

Correct Answer: Petiole

Candidate Answer: Petiole

QID : 186 - If the CO5 concentration in the blood increases, the breathing shall ;
IR 35k §6+ A COo &Y QehIIar 96 SR &, Y gy |

Options:

1) Increase

i)

2) Decrease
geT

3) Affected
RHIECH

4) Stop
%

Correct Answer: Increase
Cri

Candidate Answer: Decrease
e

QID : 187 - It is difficult to walk on ice because of .

th UR GeIIT i giaT g adifeh |
Options:

1) absence of friction

ESUT ST 71T BT &

2) less inertia

Siged A GBIl 8

3) more inertia

Siged e Biel &

4) more mass

A i gt 8

Correct Answer: absence of friction
HSUT T TG BT &

Candidate Answer: absence of friction
HNUT T 7T gl &

QID : 188 - Work done upon a body ___.

e v R fhan mar R __ g gl
Options:
1) only a vector quantity
chael Yok afesT AR
2) only a scalar quantity
ek AU AfA

3) both vector and scalar
AT T TRt

4) neither vector nor scalar
At "1 ofiR 7 € Al

Correct Answer: only a scalar quantity
Sherel Yeh BT A

Candidate Answer: only a vector quantity
hael Teh Qi Ay

QID : 189 - Which was the first web browser?

T Ugel A9 SISO i T AT?

| P R oIS e 3.



Options:
1) Safari
TR

2) Netscape Navigator
Ak AR
3) Internet Explorer

4) Chrome
ALy
Correct Answer: Netscape Navigator

Candidate Answer: Netscape Navigator

QID : 190 - Which of the following acids is present in sour milk?

Frafafea o @ @b 91 sna @e gy a1 wgT § U S1aT 82
Options:
1) Formic acid
whifdes sret
2) Lactic acid
AfeRe avdt
3) Citric acid
3T
4) Tartaric acid
TERR 3T

Correct Answer: Lactic acid
31T

Candidate Answer: Lactic acid
3T

QID : 191 - Acids turn blue litmus into which colour?

3 it forena At fohg 1 A sear 3 &2
Options:

1) Green

E

2) Red

ollel

3) Pink

4) Colourless

Correct Answer: Red
<flet

Candidate Answer: Red
BIG!

QID : 192 - Which of the following represents correct food chain?

Frafafed & @ o 91 s 98t @ sRaar i i 82
Options:

1) Grass - Frog- Insect - Eagle - Snake

9 - Hgeh - dle - TS - T

2) Grass — Insects - Frog - Snake — Eagle
U - dle - Heah - 99 - T

3) Grass — Snake — Eagle - Insects - Frog
9 - 90 - TS  hie- Feh

4) Grass — Eagle - Snake - Insects - Frog
Y - %S - 9 - & - dgw

Correct Answer: Grass — Insects — Frog — Snake - Eagle

¥ - e - Heh - 90 - TS
Candidate Answer: Grass — Insects — Frog - Snake - Eagle

9 - $e  ded - 9 - R

QID : 193 - Which among the following is not an aim of ‘Make in India’ campaign?

Frafef@e o d o1 v ‘Ae-z-3ear sifvam wraeg 8 82




Options:
1) Facilitate investment

Fder & gfaen

EFZ[Enhance skill development
e o 7 iy

3) Foster innovation

4) Financial inclusion
ot wemaer

Correct Answer: Financial inclusion

forfra Temasr
Candidate Answer: Foster innovation

QID : 194 - Who among the following invented battery?

Frafaf@e § 3 fFaa 3 &1 snfasrr fram am?

Options:

1) Rudolf Diesel

TSIk Siete

2) Alfred Noble

IhE Alad

3) Alessandro Volta
il

4) John Napier
ST AR
Correct Answer: Alessandro Volta

Candidate Answer: Alessandro Volta

QID : 195 - Which country won the 2016 Kabaddi World Cup?

forer 217 2016 Fag fay y Shar?
Options:

1) India

AR

2) Iran

E|

3) South Korea
aferor Fifar

4) Bangladesh
Elcicel

Correct Answer: India
HRd

Candidate Answer: India
HRd

QID : 196 - Paintings of Ajanta depict stories of ____.

Srsiar 6l femremfar i swgrat ot gt 1
Options:

1) Jatakas

NIGEY

2) Tenali Rama

AT T

3) Akbar Birble

SR IR

4) Panchatantra

LCGES

Correct Answer: Jatakas
SITdeh

Candidate Answer: Jatakas
SITdeh

QID : 197 - Who is the winner of Man Booker International Prize 2017?

2017 B9 g SRTETT [RERR & faoiar e &7
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Options:
1) David Grossman

s T

2) Arundhati Roy
Srefa 3

3) Steven Spielberg
g wterent

4) George Lucas
SISt g

Correct Answer: David Grossman

Candidate Answer: Steven Spielberg

QID : 198 - Who is the author of the book named “The God of Small things"?

“& TifS itk Tie frg” e T & oikach i 67
Options:
1) Nasiruddin Shah
Me
2) R.D. Pradhan
SR, e
3) Vijay Darda
[EREKG]
4) Arundhati Roy
STl T

Correct Answer: Arundhati Roy
Rz Ginkics

Candidate Answer: Arundhati Roy
NEl

QID : 199 - Which country is India’s first 2+2 dialogue partner among any country of world?

orer & foredt ofY 2201 A § AR 1 UG 2 + 2 FaATE TSR I 7 2371 87
Options:

1) Pakistan

icasic)

2 S_ri-Lanka

3) Bangladesh
Eaice]

4) Japan
S

Correct Answer: Japan
SIEIE

Candidate Answer: Japan
Sieict

QID : 200 - Indus water treaty 1960 is an agreement between Indiaand ___.

iy o1 6 1960 IRA AT ____ & Aex Yen T &1
Options:
1) Bangladesh
A
2) Pakistan
qTfehe
3) China
Gici
4) Nepal
Aurer

Correct Answer: Pakistan

Candidate Answer: Pakistan




